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 EPS-08  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

December, 2021 

 

ELECTIVE COURSE : POLITICAL SCIENCE 

EPS-08 : GOVERNMENT AND POLITICS IN 

AUSTRALIA  

Time : 3 hours Maximum Marks : 100 

Note : 

(i) Section I — Answer any two questions. 

(ii) Section II — Answer any four questions. 

(iii) Section III — Write short notes on any two parts of  

question no. 13.     

SECTION I 

Answer any two of the following questions in about 

500 words each. Each question carries 20 marks.  220=40 

1. Describe the evolution of modern Australia.  

2. Explain the salient features of the Constitution 

of Australia.  
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3. Briefly explain the major political institutions in 

Australia.  

4. Discuss Australia’s relations with various South 

Pacific countries.  
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SECTION II 

Answer any four of the following questions in about  

250 words each. Each question carries 12 marks. 412=48 

5. Discuss the nature of multiculturalism in 

Australia, with particular reference to its Asian 

population.  

6. Describe the various factors which contributed to 

the upsurge of the Land Rights Movement in 

Australia.  

7. Examine the changing patterns of Australian 

Nationalism.  

8. Critically examine various challenges the Trade 

Union Movement has faced in Australia in 

recent years.  

9. Analyse the nature and role of reforms in 

different sectors of the Australian economy.  

10. Examine the Foreign Direct Investment (FDI) 

policy in Australia.  

11. Discuss the major factors that shaped 

Australia’s relations with the United States in 

the post Cold War period.  

12. Examine the status of Australia’s economic ties 

with the East Asian countries.  
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SECTION III 

13. Write short notes on any two of the following in 

about 100 words each. Each part carries  

6 marks. 26=12 

(a) Australia-China relations  

(b) Australia-Japan relations 

(c) Australia and Asia-Pacific Economic 

Cooperation (APEC) 

(d) Contemporary state of Indo-Australian 

Relations  
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 B©.nr.Eg.-08  

ñZmVH$ Cnm{Y H$m`©H«$_ 

gÌm§V narjm 

{Xgå~a, 2021 

 

EopÀN>H$ nmR>çH«$_ : amOZr{V emñÌ 

B©.nr.Eg.-08 : Am°ñQ´>o{b`m _| gaH$ma Am¡a amOZr{V   

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : 

(i) IÊS>> I — {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 

(ii) IÊS>> II — {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & 

(iii) IÊS>> III — àíZ g§. 13 Ho$ {H$Ýht Xmo ^mJm| na g§{jßV 
{Q>ßn{U`m± {b{IE &  

IÊS>> I  

{ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| 
(àË`oH$) _| Xr{OE & àË`oH$ àíZ Ho$ 20 A§H$ h¢ &  220=40 

1. AmYw{ZH$ Am°ñQ>́o{b`m Ho$ CX` (H«$_{dH$mg) H$m dU©Z 
H$s{OE &  

2. Am°ñQ´>o{b`m Ho$ g§{dYmZ H$s à_wI {deofVmAm| H$s ì`m»`m 

H$s{OE &  
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3. Am°ñQ´>o{b`m H$s à_wI amOZr{VH$ g§ñWmAm| H$s g§jon _| 

ì`m»`m H$s{OE &  

4. Am°ñQ´>o{b`m Ho$ {d{^Þ X{jU àem§V amï´>m| go g§~§Ym| H$s MMm© 

H$s{OE &  
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IÊS>>> II  

{ZåZ{b{IV _| go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J 250 eãXm| 

(àË`oH$) _| Xr{OE & àË`oH$ àíZ Ho$ 12 A§H$ h¢ &  412=48 

5. E{e`mB© OZg§»`m Ho$ {deof g§X^© _| Am°ñQ>́o{b`mB© 

~hþg§ñH¥${VdmX H$s àH¥${V H$s MMm© H$s{OE &  

6. Am°ñQ´>o{b`m _| ŷ{_ A{YH$ma Am§XmobZ CX²do{bV hmoZo Ho$ 

{d{^Þ H$maH$m| H$m dU©Z H$s{OE &  

7. Am°ñQ´>o{b`mB© amï´>dmX Ho$ ~XbVo àmê$n H$m narjU  

H$s{OE &  

8. hmb Ho$ dfm] _| Am°ñQ´>o{b`mB© ì`mnm[aH$ g§K (Trade 

Union) Am§XmobZ Ûmam gm_Zm H$s JB© {d{^Þ MwZm¡{V`m| H$m 

AmbmoMZmË_H$ narjU H$s{OE &  

9. Am°ñQ´>o{b`mB© AW©ì`dñWm Ho$ {d{^Þ joÌm| _| {H$E JE 

gwYmam| H$s àH¥${V Am¡a ^y{_H$m H$m {díbofU H$s{OE &  

10. Am°ñQ´>o{b`m Ho$ àË`j {dXoer {Zdoe (FDI) H$s Zr{V`m| H$m 

narjU H$s{OE &  

11. erV `wÕ níMmV² Am°ñQ>́o{b`m Am¡a g§`wº$ amÁ` A_o[aH$m 

(US) Ho$ g§~§Ym| Ho$ à_wI H$maH$m| H$s MMm© H$s{OE &  

12. Am°ñQ´>o{b`m Ho$ nyd© E{e`mB© Xoem| Ho$ gmW Am{W©H$ g§~§Ym| 

H$s pñW{V H$m narjU H$s{OE &  
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IÊS>>> III 

13. {ZåZ{b{IV _| go {H$Ýht Xmo  na bJ^J 100 eãXm| 

(àË`oH$) _| g§{jßV {Q>ßn{U`m± {b{IE & àË òH$ ^mJ Ho$  
6 A§H$ h¢ &  26=12 

(H$) Am°ñQ´>o{b`m-MrZ g§~§Y  

(I) Am°ñQ´>o{b`m-OmnmZ g§~§Y  

(J) Am°ñQ´>o{b`m Am¡a EnoH$ (E{e`m-àem§V Am{W©H$ gh`moJ)  

(K) ^maV-Am°ñQ´>o{b`mB© g§~§Ym| H$s g_H$mbrZ pñW{V  

   


